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12345

0.5

-1

=1

G 2G/G

Q:
O\/Ii:



N
ZOMi=1

i=1

SMi
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Sk



250 230 248
181 203 190
75 83 91
17 9 22
0.6 0.3 0.1
1 OMi
oM= G > 1/ *
x 1 000 x 1 000
250+ 181+ 75+ 17 523
230+203+83+9 525
248 + 190 + 91 + 22 551
1 1 1
M R - - =
> 1/G 523+525+551 0.0056317
OM = 523x0.0056317 ~!=0.3395
OM = 525x0.0056317 ~!=0.3382
OM = 551 x0.0056317 ~!=0.3223
2 Sk
A
1 2 3 SA
0 1 0.25
0 1 0.25
1 1 2 0.50
1
B
1 2 3 9B
1 0 1 0.33
0 0 0
1 1 2 0.67
1
1 2 3 gC
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1 1 2 0.67
1 0 1 0.33
3 1
I Sk
S.F.i
0.25 0.25 0.50 0.6
0.33 0 0.67 0.3
0 0.67 0.33 0.1

0.60 0.25 + 0.3 0.33 + 0.1 O =0.249
0.60 0.25 + 0.3 0O + 0.1 0.67 =0.217
0.60 0.50 + 0.3 0.67 + 0.1 0.33 =0.534

22%0@:9

x=0.5
LMi=x S, + 1- x OV,
LM = 0.5 0.249 + 0.5 0.3395 =0.2943
LM = 0.5 0.217 + 0.5 0.3382 =0.2776

LM = 0.5 0.534 + 0.5 0.3223 =0.4281
LM,
XYy z
X y z
60 130 250
44 27 15
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B
© A xy
&=G Cx+ Gz Q=Cy +GCyy Qu
_ G- G _ 1300000 - 600000 _
QA_Q/X-Q/y_ a0 27 =4.12
® B yz
G =G Cr+CyxQGB=Cz+ G, x Qs
_ Gz - Gy _ 2500000 - 1300000 _
Qﬁ‘q,y-c:,z‘ 27- 15 =10
®) 4.12
X 4.12 10 y
10 z
P P
7-5 PP P
PP P P P Ps w, W C
y
Pg(xsyY5)

Pz (XZ ng)
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Cry =2Wiv x-x%+ y-y?

min =1

i=12345
7-6
P
W,
7-6
X Y
A BCDE E
BCE
7-4 V4
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X Y Zc Zb zd
A 0.42 0.32 0.46 0.44 0.48 10 000
B 0.36 0.44 0.37 0.30 0.45 15 000
C 0.41 0.42 0.30 0.37 0.43 16 000
D 0.38 0.48 0.42 0.38 0.46 19 000
E 0.50 0.49 0.43 0.46 0.27 12 000
27 000 20 000 25 000 25 000 25 000
2.70 2.68 2.64 2.69 2.62
7-4
7-5
E
7-5 —
X Y Z
A 3.12 10 3.00 3.10 10
B ® 3.06 3.12 @ 3.01 15
C 3.11 3.10 16 2.94 16
D 19 3.08 3.16 3.06 19
E 3.20 10 3.17 ® 3.07 12
27 20 25 72
= $192 500
= $26 450
$ 218 950
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X Y Z

A 3.12 10 3.00 3.13 10
B 3.06 3.12 15 2.9 15
C ® 3.1 3.10 3.06 16
D 19 3.08 3.16 ® 3.07 19
E 3.20 10 3.17 ©® 3.14 12
27 20 25 2

= $193 750

= $26 960

$220 710

X Y Z

A 3.12 10 3.00 3.10 10
B 15 3.06 3.12 3.07 15
C 3.11 10 3.10 ® 3.06 16
D 12 3.08 3.16 @ 3.08 19
E 3.20 3.17 12 2.89 12
27 20 25 2

= $192 000

= $26 400

$218 400

khumewela
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7-6
A B o D
1 11 12 10000 1.1
2 11 0 10 7 8000 1.4
3 8 10 0 9 20000 0.7
4 12 7 9 0 12000 1.0
7-6 —_— 7-7
7-7 - x x
B C D
1 121 132
2 123.2 0 112 78.4
3 112 140 0 126
4 114 84 108 0
g4 A B C D
1 0 121 (88) 132 BT B
A B
2 123.2 0 112 @ ¢D
78. 4
3 140 0 126
4 114 @ 108 0
7- 8
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A B D
0 88 132
44.8 83.6 0
112 0 126
4 114 108 0
B
s A ¢ D
1 : 102 ESHRMEH R
2 44.8 @/ﬁ A C D
3 @) 126 g8 112 33.6
. o8
4 114 88 112 14l.6 #tit
7-9
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C D
1 4
2 33.6 0
3 0 126
4 108 0
C 1 3 D
x X 88+ 78.4=166.4



Huft 1962
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[] ABC

ABC

ABC

ABC

1951

ABC ABC

ABC
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ABC

10% 70% B
20% 20% C
70% 10%
A
C
B
1.ABC
1
2
3 ABC 4
ABC 5 ABC
2.ABC
ABC
A BC
ABC 1
2
3 4 ABC
7- 10 5
70% A 10% A
20%
20% 10% C
70% 7- 10
7- 10 ABC
% %
1. 19 1500000 150000
2. 24 1050000 2550000
3. 29 82000 3370000 A
4. 3 530000 3900000
5. 35 980000 4880000
6. 39 7.8 470000 5350000 72.3
7. 2 360000 5710000
8. a4 130000 5840000
9. 46 220000 6060000
10. 48 160000 6220000 B
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% %

11. 49 78000 6298000
12. 115 330000 662800
13. 140 28 92000 6720000 9.8
14. 350 280000 7000000

15. 500 100.0 400000 7400000

500 100.0 7400000 7400000 100.0
A BC 1A
2 B
3 C
7- 11 A BC
7- 11 A BC
A B C
ABC
3. ABC
1 ABC
2 ABC
3 B
B A C
4 ABC
C

A



22 —

70%
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5% ~ 15%

24
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80%

10



= x 10000

2
= + 5 x 100%
= + i x 100%
1 9 9.52mMm
0.36mr? 98%
S S ¢ S
X- thon 8 = X+1ty 8 =
0.01 @ 0.01 @
X =9.52 S=0.60 tbow 8 =2.90
8.94 10.10 98%
8.94 10.10
2 10
kg
62 57 65 60 63 58 57 60 60 58
56 59 56 57 58 57 60 55 57 55
a=0.05
X, =60 f=64/9
X, =57 f=24/9
of o o2 = o
Ho:iol = o5 Hiioi=ab $/$=2.67<Eyps 99 =
4.03 Hy, =42
Hoipa- po=0 Hyipyg- >0
Xi- X =35>t N+np-2 S+ ++
Ny 127]
64+24 /1 1
= tO.(B 18 N/ 18 TO+ TO = 171
Ho H,
[]



m— - /
q/ S qp P

tp=0q/Cn

%
%

%

Cnm
t
%
Pq
1
Cn
t
G = by Gy
t
+ tp
| 2
%
ts
q
= tp
Ch=0d/ts=0qp ‘. t' )
P
G
q
’ = At
- tpy=A
Op=0p+Aq
o



1 1

At =t - t'y=0y/Cn- Q/C =0y P
Clm' Cm _ _ C'm
% o, 0 o @
c
Ag =C At =g, Cn:“— 1
3 4
Cm=Cn 3 4
3 At 1-Cm
Cm
Cm
4 Ad -1
qa O Cn
7- 12 Cn/C'm At Ad
7- 12
Cm Cn/C m At C m/Cnm Aq
1.1c, 0.909 0.0909t, 1.1 0.1q,
1.2c, 0.8333 0.1666t, 1.2 0.2q,
1.3c, 0.7692 0.2307t, 1.3 0.3q,
1.4c, 0.7142 0.2857t, 1.4 0.4q,
1.5¢c;, 0.6666 0.3333t, 1.5 0.5q,
1.6c;, 0.625 0.375t, 1.6 0.60,
1.7¢c, 0.5882 0.4117t, 1.7 0.7q,
1.8c, 0.5555 0.4444t, 1.8 0.8q,
1.9G, 0.5263 0.4736t, 1.9 0.9q,
2.0c;, 0.5 0.5t, 2.0 1q,
q t's
Op p P2 P2 ty
t P
P2
At =t -t
Ad' = - oy
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' = G/C'm
At =t - t, = c_cu; - %
_ an - C'y _am
P C'm' G C'm -



Ad' = CAY = g 1 - 6
7- 13 Cn/C'm At AQ"
7- 13

C'n Cn/C'm At" C'm/Cn Ag'

0.9¢, 1.1111 0.1111t, 0.9 0.1q,

0.8¢, 1.25 0.25t, 0.8 0.2q,

0.7¢, 1.4285 0.4285t, 0.7 0.3q,

0.6¢, 1.6666 0. 6666t 0.6 0.4q,

0.5¢, 2 1t 0.5 0.5q,

0.4c, 2.5 1.5t, 0.4 0.6q,

0.3¢, 3.3333 2.333t, 0.3 0.7q,

0.2¢y, 5 4, 0.2 0.8q,

0.1c, 10 ot, 0.1 0.90,

Qa
Op +Aq
+AQ = Q- 7
2.
tP
Qa G- Ga +Aq g+ Aq -q q- Aq
3.
1 ABC
A
C A
2
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Ao A A
Ay ©)
a 4
@
@
5
6
= x 100%
15
20 2
3 1
15+20+3 - 1+2+1 ~
15+20+3 * 100% =89%
1986 5
1.
185
2.
60
280 374

150 30 65 100
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1.5% 0.6%
99.6% “ " “
[] ABC
ABC ABC
ABC
ABC ABC
ABC
ABC ABC ABC
7-14
A B C
A AAA ABA ACA A
BAB BBB BCB
C CAC CBC ccC Cc
AAA BAA CAA
1. ABC
1 10% 60%
A 20% ~ 30% 20% ~ 30% B
60% 10% C 2
A
C B
2. ABC
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ABC

3. ABC
ABC
4. ABC
1 AAA BAA
4 ABC
5
ABC
[
™M
70
1.
1
B C
10% B 75% C
15
7-15



10

20



- 16 ©)

w

58
— 38 —

5S

5S



5S

5S
5S
5S

4.
5.

1

2

3
6.

MTBF

5S
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o 0~ W

1984
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100

100

100%
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N

100

1500



1 300 600 1200 3600
2 450 900 1800 5400
3 200 400 2400
4 600 1200 7200
5 300 600 1200 3600
6 600 1200 7200
7 300 900 5400
8 75kwW 300 600 1200 3600
9 80 ~ 200kwW 450 900 1800 5400
10 265KW 1500 3000 6000 18000
1 800 1600 9600
12 350 700 1400 4200
13 450 900 5400
14 450 900 1400 5400
15 800 1600 9600
16 200 600 1200 3600
17 350 700 4200
18 350 700 4200
19 350 700 1400 4200
20 450 900 5400
21 450 900 5400
22 300 600 1200 3600
23 450 900 1800 3600
24 350 700 1400 4200
25 450 900 1800 3600
26 350 700 4200
27 0.5 25 5.0 10.0
28 0.4 2.0 4.0 8.0

29 0.5 2.5 5.0 10.0
30 0.4 2.0 4.0 8.0
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T20

C = Vp3 = vnnp,
3
1000 /
27
5%
X
x 204 x

k=rc
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< 0 O~

10

11
12
13
14
15

16

17
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19

20

21

23
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24

25

26

27

28

29

31

32

88 R

37
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=

Q
K— 1.2~1.5

KQo

Q= QT+ Q

&G=QQ+Q
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10% ~ 20%
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1 ABC
B

2

3

4

[]

70

70
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1 _
1 [
1.
_ R
ap—Kl
ap——
R——
Ky
ol = KooKy K
Ko Ko
al
Ko——
Ky
a
a=1- 1-2ap 1- al
K= 1-a Ky
1 2 3 4
K=K - R
Ki>R K>0 Ki=R K=0
Ki<R K<O
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2500 ~ 2800
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1
« g R
-
620—1 750
F 10 0.6
DF 1 LHD—280
F 10 UN—1 DF 1
@
620- 1 750
1/10
0.6
T 0820- 1 x10
DF=0.6 1
@
7-18
7-18
JF DF
620- 1 D400 x 750 10 5.5
Z3050 D50 11 9
T68 D85 28 10
XA5032 320 x 1250 13 10
Xb132 320 x 1400 13 7
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I DF

M1432 @320 x 1000 13 8

B2010A 3000 27 60

DK7720 320 x 400 8 14

LH - 280/17 2.5 $0.32 28 28

P45
SN- 45 16 26
1:20
56 30 15
EQ140 5 13 6
7- 18
- 18
7- 19
7-20 7-21
7- 22
7- 19

/F

70 15 30 4 119

20~ 35 7 14 2 43~ 58
7- 20
/F
3
1.5~25
3~4.2
1

56



5
6 0.4 /F
7-21 /F
550 700 700 ~ 800 400 350
200 250 300 200 150
7- 22
1 2 3 4 5 6 7 8
1.93 1.64 1.32 1.18 1 0.85 0.72 0.66
6+ 12

1.
6+12

6 12

A
F=
35 DF=12 4
12 5
7-23
7- 23 6+ 12
Ts Tp Tm
1. 0.02mm 0.04nm

6 2. 0.32mm 0.55mm 1.69

3. 60 65

4. 60 65
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Ts T, Tm
1. 0.02mm 0.05mMm 2.05
© 2. 0.32mm 0.70mm
3 60 65
4 60 65
1. 0.22mm 0.30mm 1.52
2. 0.15mMm 0.25mm
1. 0.02mm 0.04mm 1.85
2. 0.15mMm 0.25mMm 1.85
2.
4+8
3.
12
2.35 12
6 1
2
2 6+ 12 2
1 1
5 3 2 1
[]
40
50% 60%
70% 1943
50
60



1974

12

R = RR,

12

R=R+R- RR =1-
123
R=R R +R;-

1- R

1-

R,
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1984

1985 100MW 40MW
= X 100%
= - x 100%
= X 100%
+
_ +
+ + x 100%
7- 24 1989  100MW
100 125MW 200 300MW
7-24 1989  100MW
MW % %
100 o) 85.41 4.76
125 62 84.89 5.24
200 84 76.71 8.29
300 21 78.49 9.66
7-25 200MW
200MW 7-24 100 125MW
7.75
7-25 200MW
% %
73 76.81 8.86
7 84.97 4.28
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x|’

ap:

Ap

Ky

ap=1

63 —

G G



a B——
~1
1 2
=1- 1'0‘p 1'aj
[04
K
K= 1-a K,
3
K= 1-1+ 1-aqa 1-q K
R Ky
1- - 1-1+-
Ky KOKO
:Kl‘ R
K K,
[]
— X
B X
20
2 95%
20x2 _
2x0.05 - 2t



I\

+1 2

4.
1
5.
18
250 40
3 4
29 4 “ " 90%
1
= X
_ 480 _ _
—250><40—3000 =3
18 _
=3 =6
2 2
29 =3+4+4=11
2
29 _al
6 _
3 3 =2
“ " 4x2=8
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90%
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© 700 00060 6
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B +
= > -
x +
Kn+ R+ S < K¢ a- B+ S
a= /
B:
Sdz
G < & aﬂ>l

x 100%
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Y = Y2—

Y1:

A E t-

p+ M



Yl = BVotz + VO[ + P

2 1

V = 1+BtV0

Y:Yz' Y1: - BVOI+ A E- VO t- P

t

T+1 A

A E-
28V

To
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5 x 10°pa



2
3
8~ 15%
2%
4
~ 330 x 10°pa
3.
4.
[]

20 x 30 x 10°pa

70

- 100

5~ 10%

~ 560

71 —



2 —




LCC

O—A—B

O—A—B—C—D—E

K t

T
LCC = 0tht

t
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L+ E——7——

S =P1+i"+W1+i "t. i
n
S:P1+in+%E
1+i "-1
i
1+i "
n Ny S
n<n
A B
- 28 s
7-28 A B
A B
P 10000 8000
E 100 150
L 300 200
n 10 10
i 10% 10%
n
Sy=pP1+in++FH -1
10
:100001+o.110+%1'1x100-300
= 27231
in
SB=P1+in+ME-L
10
=80001+O.110+%x150-200
= 23941
S,- Sg = 27231 - 23941 = 3290
B A 3200 B
&)
1
s 1 T s
3
_ 1
S = 1+i "
_p, W L 1+i"-1
- 1+t 1+i" i1+ "
2
s 4



S=P+
1+i "-1
i 1+i"
6.26 A B
B 1+i"-1 L
SS=P+ i "E- 1+in
B 1+0.1%9. 1 300
= 10000+ 597 010 ¥10- 7 01 ®
= 10498
B 1+i"-1 L
S =P+ i1+i“E' 1+in
B 1+0.1%9. 1 200
=800+ 57 01 0 101D
= 8845
S - S = 10498 - 8845 = 1653
B A 1653 B
©)
W L
=[P+ 1+it" 1+in"
o -
% 1+ 1 _12+| 1 + E
n
1+ i 1+i "-1
in?
n
6.26 A B
A W L
‘[P+ 1+ U 1+i”]
o —
% 1+ _12+| 1 + E
n
0000 300
‘[1 T 1+01Yb
1+0.1 1+0.12%_1
0.1 x 10 + 100
= 1833
B W L
_[P+ 1+t 1+i”]
.. -n_
% 1+ _12+| 1 + E
n
200
‘[8000' 1+0.10
1+0.1 1+0.1%.1
0.1 x 10 + 150
= 1539
B A 204 B
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7-29
/
Y7150
4 1.0 8.00 10% 2000 2
M10 x 500
ZSTZ500
12 1.3 8.00 1% 200 16
M10 x 500
_ X
- +
Y7150 _ 4800 x 1.0 x 8.00 _ 38400 _ o
~ 480 x 8.00 + 2000 ©— 5840 ~
ZSTZ 4800 x 1.3 x 8.00 _ 49920 _
48 x 8.00 + 200 ~ 584 85.749
Y7150 = 38400 - 5840 = 32560
ZS1Z = 49920 - 584 = 49336
yAS VA Y715
6.575:
85.497 32560 : 49366 ZSTZ 16
Y7150 2
ZSTZ630C2
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